
70 MPS 7.0 | Grab containers 3 842 538 281 (2017-10)

00121025

00137571

00121001 00121004

Grab container rack application

ff Easy-to-reach, ergonomic supply of materials in grab 
containers on the workstation

ff Minimized grab distances by positioning materials in 
direct vicinity of worker

ff Notches for adjusting the height and offset position of 
the grab containers

ff Can be combined with a swiveling supporting arm 
(see page 60)

ff Assembly elements for custom configurations of grab 
container rack in variable widths, see “Components” 
section (see page 176)

Lettering clip

No.
Lettering clips  
(incl. labels)

10 3 842 536 127

10

ff Standardized labeling of grab containers
ff Interchangeable labels (74 mm x 37 mm)



� 185

00139032

E

F

G

D

A

H
B

A

00109453

1xDIN 7984
M6x14

1x

1x

8

8

10

10
2x

DIN 7984
M8x16

DIN 9021
A 6,4

DIN 7991
M8x20

2x 2x

00116459

10

GF

45

45A C

D

B

00131555

A

30

10

20,1

45

2,
5

6

12
,5

R2

A C

D

B

00131528

B

001095560

L

P

p = 90: Mmax = F x L = 150Nm
p = 45: Mmax = F x L = 50 Nm

F
D

L

45

p = 90: Mmax = F x L = 150Nm
p = 45: Mmax = F x L = 50 Nm

00109562

F

p
 =

 9
0/

4

E

00109298

4,5

2,5

7,6

Ø4

15

3022

H

00109357

30

15 3

00109357

I

3 842 538 281 (2017-10) � Components | MPS 7.0

Supporting arm assembly elements

L (mm) ESD No.

A 45x45L strut profile, DB17 profile machining (through hole d = 17) on one profile end; 
material: aluminum; anodized

50 ... 6000 1 3 842 993 737/L/
A=D17/-

6070 20 3 842 553 611

B 30x45 strut profile; material: aluminum; anodized 50 ... 5600 1 3 842 993 710/L

5600 18 3 842 511 704

D 45x45 swivel bearing, incl. fastening material for 10 mm slot; material: diecast zinc 3 842 522 634

E 45x45 supporting arm joint, incl. fastening material for 10 mm slot; material: diecast zinc 3 842 521 263

F R28x38 bracket, incl. fastening material for 8 mm slot; material: diecast zinc 3 842 515 547

G R35x38 bracket, incl. fastening material for 10 mm slot; material: diecast aluminum 3 842 532 274
H Suspension profile; material: aluminum; anodized 30 ... 3000 1 3 842 993 411/L

3000 10 3 842 537 679

Suspension profile; material: aluminum; natural 30 ... 3000 1
ESD

3 842 993 063/L

3000 10
ESD

3 842 554 157

I 15x30 suspension profile cap; material: PP; black 20
ESD

3 842 551 583

15x30 suspension profile cap; material: PP, signal gray 20 3 842 551 582



186

00109393

45

45A C

D

B

00131555 00109453

1xDIN 7984
M6x14

1x

1x

8

8

10

10
2x

DIN 7984
M8x16

DIN 9021
A 6,4

30

30

A C

D

B

00131519

00120957

00116470

H
I

00120958

390

176

I

H

A

K J

CF
L

325

CA F H, I

J

MPS 7.0 | Components 3 842 538 281 (2017-10)

Supporting arm assembly elements

L (mm) ESD No.

A 45x45L strut profile; material: aluminum; anodized 50 ... 6000 1 3 842 993 737/L

C 30x30 2NVS; material: aluminum; anodized 50 ... 5600 1 3 842 993 706/L

5600 20 3 842 506 949

F R28x38 bracket, incl. fastening material for 8 mm slot; material: diecast zinc 3 842 515 547

H 45x45 joint, incl. fastening material for 10 mm slot; material: diecast zinc 3 842 538 687

I Clamping lever 3 842 538 607

J Inner bracket for 8 mm slot; material: steel; galvanized, transparent passivated 10 3 842 535 577

K 45x45 cap; material: PP; black 20
ESD

3 842 548 753

45x45 cap; material: PP, signal gray 100 3 842 548 752 

L 30x30 cap; material: PP; black 20
ESD

3 842 548 745
30x30 cap; material: PP, signal gray 100 3 842 548 744


	Manual Production Systems
	IVZ
	Grab containers
	Lettering clip
	Grab container rack application

	Components
	Supporting arm assembly elements
	Supporting arm assembly elements




